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. The revealed preference theory is based

on the assumption of

(A) Strong ordering

(B) Weak ordering

(C) Negative income elasticity
(

D) Cardinal utility analysis

The kinked demand curve model of
Paul Sweezy explains

(A) Price rigidity in Duopoly

(B) Price rigidity in Oligopoly

(C) Price determination in Duopoly
(D)

D) Quantity determination in Duopoly

. The psychological law of consumption is

given by

(A) A. C. Pigou
(B) Milton Friedman

(C) J. Tobin

(D) J. M. Keynes

High-powered money is also called as
(A) base money

(B) narrow money
(C) broad money
(D)

D) plastic money
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5. Knife-edge problem arises in

(A) Solow Model

(B) Kaldor Model

(C) Joan Robinson Model
(D)

D) Harrod-Domar Model

. India’s Second Five Year Plan was
based on

(A) Harrod-Domar Model
(B) Mahalanobi’'s Model
(C) Joan Robinson’s Model
(D) Kaldor's Model

. Primary deficit is

(A) Fiscal deficit — relending by the
Government

(B) Revenue expenditure — revenue
receipts

(C) Fiscal deficit — interest payments
(D) Total expenditure — total receipts

. Adjustment under gold-standard is carried
out by

(A) flexible exchange rate

(B) exchange controls

(C) variation in national income
(D) price specie flow mechanism

. The average annual growth of agriculture
during the Eleventh Five Year Plan period
was

(A) 4 percent

(B) 3.3 percent
(C) 2.5 percent
(D) 4.5 percent
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10. The relationship between arithmetic
mean (m), geometric mean (g) and

harmonic mean (h) is

(A) g=m+h

(B) g=+mh

(D) None of the above

Note : Choose the correct combination

according to codes :

11. Which of the following factors are

responsible for changes in demand ?
l. Changes in consumer taste

Il. Changes in real income

lIll. Changes in distribution of income

IV. Changes in the rates of taxation

Code :
(A) Iand Il only
(B) Hhand il only

(©) I, land IV only

(D) 1, 11, lland IV

10. @0 5565550500 (M), MERSCIsEoR 50000

11.

Pore] ;33(;555)9:533@ ;33(;55&@ 0022043300

(D) 2 °¢%
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HIE20Y B3 D00
. IBHETE e995H00E° Sordioes
II. es estroHns” [IEN
1. esorods HoRe3E Howod BTN
IV. 255938 53 Srden
s&
(A) | 508050 Il S50
(B) 11508050 5@

(C) 1, 11 508050 IV $om@

(D) 1, 11, 11l 558055 IV



12. Which of the following are correct ?

. TC=TFC +TVC
I. MC:&
AQ

. ATC = AVC + AFC

I C
AFC=—
V. Q

Code :

(A) land IV are correct
(B) lland IV are correct
(C) I, Iland Il are correct
(

D) I, 1, llland IV are correct

13. Inthe following diagram, ¢ = f(y) indicates

y
C=f(y)
Consumption
(C)
0] Income-(y) K
. APC = MPC

Il. Long run relationship

lIl. Proportional relationship
Code :

(A) land Il only are correct
(B) 1 only is correct

(C) lhand Il are correct

(D) I, Iland Il are correct

12, QK% IS O B3O ?
. TC=TFC +TVC

_ATC
AQ
lll. ATC = AVC + AFC

Il. MC

TC
AFC=—
V. Q

§%
(A) 1558055 1V 5859

(B) 1155800 IV 5059

(C) 1, 11508065 15052
(D) 1, I, 150805 1V 35959

13, /0% gixeachd 26008, € = f(y) 8 DodSasse

y
C=f(y)
AFBFHZ
(Q)
0 esraXsoo () X
. APC = MPC
Il. 8g§°@§éoeooq5:§oo
. 98078 $502)0¢5500

§%&

(A) 1208050 1 5ER0 0GB
(B) | 3580 5063058

(C) 508050 11586305

(D)

D) I, 115556050 155603052



14.

15.

16.

According to classical theory, an increase
in money supply leads to proportionate

I. Decrease in price level
Il. Increase in price level
lll. Fall in the value of money

IV. Rise in the value of money
Codes :

(A) Inland IV
(B) Inlland 1l
(C) Inlland IV
(D) Inlandlll

The theory of balanced growth was
developed by

I. Rosenstein Rodan
Il. Ragnar Nurskse
lll. Hirschman

IV. Leibenstein
Codes :

(A) land IV
(B) lland il
(C) land Il

(D) lland IV

Which of the following are pure public
goods ?

|. Defence
Il. Roads
lIl. Street lights

IV. Education
Codes :

(A) I, Iland I
(C) land il

(B) land Il
(D) L1, and IV

14.

15.

16.
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(A) 1500650 IV
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(C) 1 50805 IV
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R00dE 9B LrToBKwts LN BODHO
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(A) | 558000 IV (B) 11508005 I
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(A) I, 115800 11 (B) 1508650 I
(C) 1508050 I (D) 1, 11, 15080 IV
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17.

18.

Two of the following economists argued
that international trade is detrimental to the
industrialisation of developing countries

I. Haberler
Il. Ricardo
lIl. Myrdal

IV. Prebisch
Codes :

(A) land i
(C) Nand IV

(B) land Il
(D) llland IV

The reasons for fast growth of public
expenditure in India in recent years are

I. Urbanisation
Il. Interest payments
Ill. Subsidies

IV. Defence expenditure
Codes :

(A) 1, lland lll only

(B) 1, lland IV only

(©) I, and IV only
(D) LI and IV

17.

18.
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IV. S5es 500w

A) |, 11558050 S

(A)
(B) 1, 1150805 IV Sov&a0
(C) I, H'508050 1V S5Ed0
(D)

D) I, 11, 508050 IV

19. The two regression lines will coincide
when 19. Boc (HARHE? DPL AP D[N
. r=0 . r=0 Il r=+1
I r=+1 . r=-1 V. r>0
. r=—1 &
IV.r>0 (A) 11558000 IV 563059
Codes :
(A) lland IV are correct (B) 115805 1l 5003053
(B) Iland Il are correct (C) 1508050 11563052
(C) land Il are correct (D) 1558050 IV 5663599
(D) l'and IV are correct
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Note : The following questions consist of two

20.

21.

statements : One labelled as the
‘Assertion’ (A) and the other as
‘Reason’ (R). You are to examine these
two statements carefully and select the
answers to these items using the codes
given below :

Assertion (A) : Indifference curves are
convex to the origin.
Reason (R) : The marginal rate of
substitution of X for Y
(MRS,,) is diminishing.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false

(D) Both (A) and (R) are false
Assertion (A) : In monopolistic
competition; a firm
earns only normal profit
in the long run.

Reason (R) : A firm in monopolistic
competition produces a
commodity which has no
close substitutes.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

FE: (200 HHpo Botk PATEHOD ORI :

2.8 T (TS (A) 520050 50878 o0
7809 (R) ™ MHO0NEBE. ot B (Y
TH0B $0BD0D 2od §Ey0 EXBrhod

2IIPERD JONE BOTOB.
20. BOFSH(A) 1 aThD 50
NSO A bN) 1SS
E0ETTH0TT® 06350
ws0D (R) } &rod AT B0 X, Yo
X003 (MRSXY) e300
&,

21,

(A) (A) 3558050 (R) Bocr HBGLED Sodoe
R), (A) 5 58188 ABTeTT D00

A) 5080355 (R) @0 Bocir 06 520 (R),
A) 55380300 eI

(B)

(
(
(
(
(C) (A) 530 =0 (R) o7

(

(D) (A) 508050 (R)Bodsr S 5059 5%

PO (A) 1 Orgog el 55700
2,503 bsrennd’
TPRTRg STV BN
TPOLOR0.

L QOO D8Ry Fed
570,58 28 H0g DD
PTHINODZ0B H3HR0
EBTDT0K0

85 (R)

gséo:

(A) (A), (R)docr p0akdn wod =¥ (R), (A)
& 3% DI 9000 D

(B) (A),(R) 3o 5052 520 (R), (A) £ 853
D882 3¢

(C) (A) 5358 20 (R) Smogomsn 52

(D) (A) 53256 5°2 (R) 5258
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22.

23.

Assertion (A) : Life Cycle Hypothesis
attempts to reconcile
the short-run and the

long run consumption

functions.

Reason (R) : Short-run consumption
function implies that
APC declines as income
increases.

Codes :

(A) (A)is true but (R) is false
(B) Both (A) and (R) are false

(C) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(D) Both (A) and (R) are true and (R) is
the correct explanation of (A)

Assertion (A) : Solow model of growth

predicts steady state
growth.

Reason (R) : Saving — investment
equality is assumed in
the model.

Codes:

(A) Both (A) and (R) are true
(B) (A) is false but (R) is true
(C) (A) is true but (R) is false

(D) Both (A) and (R) are false

22.

23.

: ESHVE HOZR BrEH0
25 S°0 Ho00kw P
QIO POV
9:30R0GPEH0 DATEIH
BADECIBE

58> (A)

005500 (R) 1 esmraihiins 0Bty

DALY AJAITA ) (0358,

BMEI00 VYT AN
N

PO BRI

gS&Q .
(A) (A), 50063 (R) 85056 5260
(B) (A),(R)Bocsr 5359 5%

(C) (A), (R) docs 505 =2 (R), (A)% $89
D882 3¢

(D) (A), (R) 3o S35 5080 (R), (A) %
505 HTE? WQYND

BOFEI(A) 1 FE PRI Qo S
S ) Lo DR

ws0D (R) P P - el BRTHT
(DROAIOS0 e8°d SO0
ErPoBe

g&&o .

(A) (A), (R) @2 Boc> 50605
(B) (A) 506 52¢ 520 (R) 5058
(C) (A) 050 =0 (R) 53958 5°¢

(D) (A), (R) &0 Botir 5859 =29
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24. Assertion (A) : According to 24. Bo3S (A)  : ebher 5§ EsoEw BEg
Ursula K. Hicks, direct BINo VEY BIQe T
taxes are superior to SR B
indirect taxes.
o0 (R) D (g By do¥),
Reason (R) : The allocative effects of o \
o000 erares WY
direct taxes are superior _ A\
B0y TeFo00). (HeFre
compared to that of o SR B o)
) Q&
indirect taxes. 2 7
gséo .
Codes :
(A) Both (A) and (R) are true but (R) is not (A) (A),(R)Bocr 2008357 (R), (A) 588
the correct explanation of (A) D553 FHPHNO
(B) Both (A) and (R) are true and (R) is (B) (A), (R)Bocir 20305 D080k (R), (A)
the correct explanation of (A) SRV HeRlelrktnbtntivita
(C) (A)is false and (R) is true (C) (A) 5356 565, (R) 5056
(D) Both (A) and (R) are false
(D) (A), (R) Dot £ 5052 529
25. Assertion (A) : Factor price equalisation
theorem deals with the: | 29 &&Ze (A) © Y 570570 G50 SRruT
effects of trade on factor RETOBR0 Y S°Ese
prices. P9 HTE (DETO0
Reason (R) : Trade in goods has no =00
effect on factor prices. sOew (R) 1 e 5050 §o D $8¥
Codes : (29277505300 GOCSEsD
(A) Both (A) and (R) are true and (R) is S
the correct explanation for (A) (A) (A), (R) o 505 (A) % RK508 2988
(B). Both (A) and (R) are true but (R) is not (B) (A), (R) Qo> 525 50 (R), (A) % 30
the correct explanation for (A) 320 DNGe?
(C) (A)is true but (R) is false (C) (A) 5050 52 (R) 5356 5°¢
(D) (A) is false but (R) is true (D) (A) 5056 526 50 (R) 5096
e 11 A-05-02




26.

Due to liberalisation
tele-density in India
increased from 18.2
percent to 76.8 percent
between March 2007
and December 2011.

Assertion (A) :

Reason (R) : Tele-density varies

across circles and there
is significant urban rural
divide.
Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)
(B) Both (A) and (R) are true but (R) is not
the correct explanation for (A)
(C) (A)is true but (R) is false

(D) (A)is false but (R) is true

26.

L EROBOEHRNE SOVESE
IO 505 8O Frosd
2007 &° 18.2 zsh006m
8 G202062011 538
76.8 ToH50055 ORSE

53> (A)

ooy (R) 1 226 ST 8¢5 o snd”
D EIRO0CEIN T
@T"ibe’a—o“)ecgm POTO 50G5s
Srar. GO Joss S
:55@5@‘3@933&39

&,

(A) (A), (R) oo o> 5352 (R), (A) £ 889

DSEEI FHN0D

(B) (A); (R) e Bocsr 505550 (R), (A) %3589
DG B0

(C) (A)Sosd = (R) &%y

(D) (A)@y» =) (R) 058
27. Assertion (A) : The mean of the

binomial distribution‘is | o7 escpests (A) e Deresie G,
np- @0 50¢5g500 NP

Reason (R) : The .thecl)retlcal e (R) oS daresin
distribution (@) C .o

] p X — . q - X 'pX
p(x)="C,-q"*-p* is
20058 FTPAANS

called the binomial Zj ad
distribution. e

Codes : $&:

(A)-Both (A) and (R) are true (A) (A), (R)Coc 2.y

(B) (A) is true but (R) is false (B) (A)esy (R) &3y

(C) (A) is false but (R) is true (C) (A)&3y (R) ey

(D) Both (A) and (R) are false (D) (A), (R)To> &y

e 12 A-05-02




Note : Sequencing Types (28-35) 28. O T e EFPelD Shses® Potindtsnshss

(28-35)
28. Arrange the following in the order of their
development. B e
8 “«
l. Revealed Preference Theory Il e 5888 Jgiien
Il. Indifference Curve Analysis lll. eros HG3ress JBe
ll. Marginal Utility Analysis IV. es¢58 (0307esd DosH0
&)
IV. Modern Utility Theory S
Codes : (A) 11, 11, 1558055 IV
(A) 1,1l Tand IV
(B) I, 11, 155805 IV
(B) 1,1, Tand IV
(©) 1, 11 1Fs08axe IV
(C) L, lland IV
(D) M1, 11, 1V 508050 |
(D) N1, 1IVandl

L 129, Srogisiontod AIOD TR Eoked Moot
29. Arrange the following in the order of their

duration . ey s
I. Short period Il. BTG50 SO0
Il. Medium period lll. 537G eSS
ll. Market period V. éggoe;m
IV. Long period ?&Q:
Codes :

(A) L, v
(A) LTIV

(B) 1, 1,1V, 1
(B) 1,1, 1v, 1
(©) 11,11, IV C) L1V
(D) IV, 11, 1, 11 (D) IV, 1L, L




30. Arrange the following in chronological | 30. 5: &/53 ?OGSO@"@&()J @ HATOoDNAE D
order TOE00E @aHod
I. Absolute Income Hypothesis
, , . D0 e300 DOENS
Il. Life Cycle Hypothesis
lll. Permanent Income Hypothesis Il &5 5 3050y
IV. Relative Income Hypothesis 1. 5355 esTrodd 505y
Codes : IV. 55 esmrai 5650y
A) LIV L .
(B) IRIRYA #&:
(B) 11,11 1V, (A) 1, IV, 1, 11 B) I, 1 1V, |
1, 1, 1, 1v
(© L1, (C) 11,1, 1V (D) 1V, 1, 11, Il
(D) IV, 1, 11, Il
o 31. 55 Q0D T 9 BAGICDS SRS K00
31. Arrange the following in correct order
l. Human Development Index | SFOIRING SrE
Il. Gender Development Index . OoR 90 So0%
lIl. Physical Quality of Life Index . 2T°dE 5% s PO
IV. Gender Empowerment Measures IV, or ramer 5o
Codes :
gséo .
NRVARINL
A) IV L B) 11,1V, 1l
(B) 1, 1,1V, 1 (A) IV, LI, B) LILIV,
I 1, 1, v D) L LI IV
(C) 11,11, 1V (©) 111, (D) 1L 1,1,
(D) 1L, 1,1, 1V 32. B35 D75 TV SOERTEHEIT D K
32. Arrange the following in chronological |, 50°8)eaCer Deosd 0 550y
order
y Il. o oo espd® Do
I. Modified Value Added Tax
Il. Central Value Added Tax lll. ogdes ©oros B0y
lIl.-State Value Added Tax IV. 350 $5:33 Qoo &m0 H5:59)
IV.. Manufacture Value Added Tax &,
Codes : (A) 1,11, 111, IV (B) IV, 1, 11, Il
(A) 1, 11,101, 1V B) IV, 1, 11, 11l
(C) 1LV, (D) NIV, LN
(C) 1,1V, (D) NIV, LN
e 14 A-05-02




33. Arcrjange the following in chronological | 33, B3 D DT TOESTEIHEION 957 Koo
order
. Formation of WTO | gidon redesg og Jome
Il. Uruguay Round Il. &oRs 807850
lll. Formation of GATT . reeSDomyeas
IV. Formation of UNCTAD [
IV. @o5°& (UNCTAD) Domyén
Codes : ©
(A) 1, 1, 1V, 1l $&:
B) 11, 1, 1, IV (A) I, 1, v, (B) 1,1, 1, v
(C) 11,1V, 11, | (C) LIV, L1 (GIRVAIINRL
v 83750 D8E DDZ00 270870 e8TPEOTT® 9530 e°e T
(D) IV, 1L, 11 34, Fo s =
34. Arrange the following in descending order 55008" ottt
of their weightage in Wholesale Price ¥ _
Index | 00e8 /53705500 /D%
l. Egg/meat/fish I Sreeo
Il. Milk 538 Grisgsioo
lll. Food grains
V. Sodoes
IV. Sugar
Codes : §&:
(A) IV, 1,11, 11l (A) IV, L (B) 1L, IV, 1L
(B) 1,1V, I, Il (C) L1, 1V, | (D) L1V
C) ILNLIV, I
© 35. NeTols DREIS D ST 2063 §o ETHHeR
(D) L1V S5t 550
35. Arrange the following concepts in which . HSBaLE0
they are used in statistical analysis
l. Sampling Il Szros ©Hdah
Il.- Data processing . 50803 565
lll. Test of hypothesis
IV.Drawing inferences V. rgong dgaires oaene
Codes : &
(A) L LIV (B) n, 1,1V (A) 1, 11,1, 1V (B) n, 1,V
(C) I 1,11V (D) IV, L L C) 1L LN,V (D) IV, 10, 1,11
e 15 A-05-02




Note : Match List-lI with List-Il and select the

correct answer from the codes given

SO

Do ERd VG oTeD JAFRITTA,
200653 7T 0Tk D& TS

below. T8 2G50
36. List| Listll 36. oD | o |l
a. Cardinal utility 1. Robinson
a. 05O 03resd derosin 1. @5)5‘05
Theory “ “
b. Ordinal Utilty 2. Edward b. ©05S pairess 2Ry eronds
@@oé;ﬁw
Theor Chamberlin
Y C. D5gos PedS5oidyes 3. B.esb.
c. Monopolistic 3. J. R. Hicks
d. esors Pl sotyel 4. S TASSS
Competition
, 5. 30058
d. Imperfect 4. Joan Robinson =
Competition a b ¢ d
5. Marshall A3 4 5 2
a b c d
B)5 3 4 2
A3 4 5 2
2 4
B5 3 4 2 ©s 3
5 3 2 4 o1 3 2 5
M1 3 2 .5
37. 200 T3S 2308) 0TS 0K
37. Which of the following pairs is correctly BB T HOOWK0
matched ?
: (A) 555 D0 — DoBS
(A) Perishable goods — Sugar
(B). Public goods — Refrigerator (B) p&Barnsiydey — 0pe0wd
(C) Private goods — Street lights (C) den 5:0e0 — 26 &Jren
(D) Free good — Air (D) 25 Saxse .
Me 16 A-05-02




38.

39.

Listl Listll

a. Law of Markets 1. Fisher

b. Quantity Theory 2. R. F.Khan
of Money

c. Employment 3. J. M. Keynes
Multiplier

d. Investment 4. J. B. Say
Multiplier

Codes :

Which one of the following pairs is

correctly matched ?

Concepts Economists
(A) Effective Demand — A. W. Philips

(B) Risk and
Uncertainty

— Milton Friedman

(C) Laissez-faire — Keynes

(D) Demand Shift

Inflation

— Charles Schultz

38.

39.

Co8 T 23HHEIEI[0
e | el
a. SroueiarEhsn 1. b
b. (55508 drrossn - 2. 350D g0
C. eSier ooty 3. Zabs: S

d. epad messtn 428, D

AROD FIGS BOL) WOTPOID DBISIOMT®
2BV A MHGOWI[

FALSISISL
(A) Frgs ol -
(B) Sxaioshisos, el — oS @&SS
(C) 08 g I —

(D) &srok exderanod) —
@Sséeaa)mm



. Shad [ 1. G Myrdal
a adow prices unnar Myrda 8. o e 1. roB 258
b. Rolling plan 2. De-Gule
c. X-efficiency 3. Leibenstein b. 5085 @ezds 2. arioe
d. Indicative 4. J. Tinbergen C. X-rRoggooo 3. @55‘@5
planning
Codes - d. 3000 ey 4. B.e396S
a b ¢ d G
A1 4 2 3 a b ¢ d
B4 1 3 2 A1 4 23
C3 2 1 4 B4 1.3 2
D)2 3 4 1 €3 21 4
D)2 3 4 1
41. Listl Listll
Name of the Name of the 41. =D e ||
Committee Chairman s R
RERRRY 26,5 oo
a. The Taxation 1. L. K. Jha
Enquiry a. D8 JTser dogwo 1. JS3. e
Commission 1953-54
1953-54 — D € o
. D8 DA IS . 3.dw.
b. Indirect Taxation 2. K. N. Raj =D 00 ST ~
Enquiry Committee 1977 3 1977
. Committee on 3. John Mathaiah C. HEHTON H00eS 00Ako 3. &S $TEHOs
Taxation of
Agricultural Wealth ST o)
and Income d. 85000 ITCer 4. 6.8, Doaks
d. Eirec_t Tages : 4. R. J. Chelliah £33
nquiry Committee 5. 2.05. SrouT
5. K. N. Wanchoo
Codes : %,
a b c d a b c d
(Ay2. 3 1 4 A2 3 1 4
B) 3 1 2 5
(E) B3 1 2 5
4 3 2 1
D)5 4 3 2 e 4 3 2 1
D)5 4 3 2
e 18 A-05-02




42. List|

a. Free trade area

b. Customs union

c. Common market

d. Economic union

Codes :

a b
(A) 21
B)3 2
C)2 3
D)1 3

Listll

. No restriction on

trade and factor

movement

. Trade is free

and no customs

duties

. No customs

duties, common
duty on

non-members

. Advanced

stage of

integration

42,

e |

a. oy relsg o 1.

b. 5353 0 IanS

C. em&&mqjeﬁ

d. Q§§§ A0S

SE,

a b ¢
A2 1 3
B3 2 4
€2 3 1
D1 3 4

e ||

Tedesgdo0 €8y
SOSPO a0 @

30500 S0

) ?oogwb e e300

éo& §§S%

003°00 &0

- 5%y

0000, BT
a5 P s

mge:%@o 00550

. D& BRanE®

@éoéé&ééo



43. The following table gives the Central | 43. &2 Q0% 2638 Jromns 0¥ 2 gr8S (8o
[S8) o oS

Government Expenditure on Social 2011-12 Sond® Dameadsd 5501050 35do0.
Services during 2011-12. DG IgEITPOR0 B[O BRSO
Listl Listll e | e
(Iltems) (% of total (eo70) (Roode ool
social B50i08® T
services FIHH)

expenditure) a. 96 wies, aoees 1. 4.63

a. Education, Sports, 1. 4.63 ROV

Youth Affairs b. (5800 So00 2. 2.15
b. Health and Family 2. 2.15 €008 HOFHO[

Welfare C. D3 0650e $58a% 3. 2.10

c. Water Supply and 3. 2.10

Housing d. SRS Soasd 4. 0.20
d. Information and 4..0.20 T

Broadcasting %€,
Codes : a b c q




44,

45.

List| Listll
a. Averaging time 1. Mode
and rate
b. Averaging rate 2. Median
of growth
c. Middle item 3. Geometric
Mean
d. Most repeated 4. Harmonic Mean
item
5. Arithmetic
Mean
Codes
a b c d
A2 1 4 3
B)5 2 3 4
C)4 3 2 1
(D)3 4 5 2

Assertion (A) : The variance of a
distribution is always
positive.

Reason (R) : The variance is the
average of the squared
deviations from the
mean.

Codes :

(A) (A) and (R) are true but (R) is not the
correct explanation for (A)

(B) (A) and (R) are true but (R) is the
correct explanation for (A)

(C) (A) istrue but (R) is false
(D) (A) is false but (R) is true

44,

45.

46.

e

2T TOTED0
bacﬁgﬁézﬁso
Jattar zsoc;jgo“)a;ﬁao
borle} :socﬁémm

= |
TR0, VLV DED 1.
200N Beae Hie 2.
50635 @030 3.
DD HITHBS 4.
€900

e o oo

5. @o¥ 253(‘,55;63;333

AW
o.N W s~ O
- WO Qa

BOPES (A) 1 Dgresddoo Ao,
DVISENI DI

(AINEEREN

PO En (o2 OV) @OS/EQJCS?SZ{DZ&J
200G SO Ao ST
PSTa(hb)

559 (R)

g&&o:

(A) (A), (R) o 2y, =20 (A) £ (R) €260
Metar)

(B) (A), (R) ez (A) S (R) 150005 558
(C)
(D)

(A) 2, 522 (R) &y

(A) 83y, 29 (R) 2y

BIOD TS’ ITHe A Sl S 5
&0

(A) esoBRDs

46. Which State has the largest coastal area
in India ? (B) &dosioeo
(A) Andhra Pradesh (B) Tamil Nadu (C) S
(C) Kerala (D) Maharashtra (D) So5foy,
e A-05-02




Read the essay given below and answer
questions from 47 to 50 based on your
understanding of the passage :

Parallel to pauperization in the rural sector, air
and water pollution from urban economic
activities is a cause of environmental
degradation in developing economies. The
problems of pollution due to such factors as
emission of noxious gas and water from
factories, and piles of waste from urban
households are universal, but often more
serious in developing countries. It is important
to recognize that environmental pollution from
these sources tends to progress faster in
developing than in developed economies.

Advanced economies have reached a stage
at which the weight of economic activities shifts
from the industrial to the service sectors in
response to economic growth, so that
consumption of energy as the basic source of
pollution grows slower than growth in national
income. Moreover, people in the high-income
economies have high preference for
environmental amenity relative to present
consumption. Therefore, they are more prone
to accept environmental regulations and
taxation at the expense of their present income.

In contrast, in the early phase of
industrialization, the share -of industry in
domestic income expands, resulting in
increases in energy consumption faster than
growth in national product. This tendency is
often exacerbated by the policy bias to promote
heavy and chemical industries from the early
stage of development. Since anti-pollution
regulations are usually weak in developing
economies; increased energy consumption in
the industrial sector tends to swell emission of
noxious gas and water. Moreover, as many
developing economies entered the era of
motorization before railway networks were
established, the density of automobiles has
been high relative to their income levels,
resulting in extreme city transportation

congestion and serious air pollution.

o QIS Disseodks aTgsook0 WA Bk 47 Sood
50 555 Ho (5508 T88008° wobyBRoonTiust 7w
STOREY D05 BRTEEOR0ws G0,

0S8 JoFososy 3 T [doer JoNo
DR0ECGOT0EIE) HOK HoBOT0 oaeawejeﬁs L) &)
TPOX0 508X ded SRORIY bwé&m eao%"@b&
Doer H0RBE” 23050625 SUEEIIMOBIDR:
SRR SR0R EETROTT HOEVR0G DS DADed:
DVPOB TOTNFO S0 S $0S, SATOS
62000500 7Y 5006 TTH 05 958 TR0 A
ShR0R; SPEETROT ey IR RSN §é’)03(oo:6&0303e3§ SEANS
Dot B8 & 60700 M) Sesa) R
Slogslelag 00BIOBES SEEION" VD B)D0. B2
28 DG0 TS SEHRTEI0 WOTO HETH0
D3R DoBD BF08" KTy eHR Doty BTed”
DI (577" WRPBITHOIR) 287,058y
SARNAERCTatl S fazaSo) FOF-8ser (B8 0
So2C &) W00 ) CYSTRRY ST E 06 Dk R
0655 TS0 Hod SR ooy Bew wSarTrad
;50)6,38 e £y e‘%ﬁ)b;ﬁ AP SPAEIBIID.
s STARNAECtay O508° (ezen (5:30% AADTHRO
Eo7) O3 58 @07 00 JE),S @“(5’?6563@333033. es
SPEEI0TT° &9 DTICED DOTFEFE 250200800 VoL,
Q0G0 L8008 70 DTN esra00S’ Qébzs
g BN DYOTHIE HORBE FERHRITN.
RS BOBY oIS HIom ©dB)] T SFeS
Sem20dsten S5 D55 oy AIBTAOWE
08 erSOITTTRAD FORETY Trevky E0ED A8
0008 KBoROBDBN. &Y ja@@o::bg 5508 o6
5080 SO BOFH0 AE) DT DS B
GOL00. T wHHY Dotosud BT e e
Dabo®es Bpo T e S TP IOSTHBTT
E0CEE0 MOS0, R Doty STed”
QSQ)E) DOGOBOZY HDOFS0O HS00C SEORMIRIS) Rel
TADOHD, SOOI )3 SRR SO0,
©0D ¥ T 50 Dot TTed” b
QITOBEED, AE)H TEFT® DIATND0, DI §5°0
RTPLTED TR0, B TGS 08 DGO SveT
RFIER0 SRSIOS IO 58 BEPRH TCL0 SP00gI3
ES‘@@(\DU‘QOA)
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47.

48.

49.

Which of the following is not a factor of

urban pollution ?
(A) Noxious gases (B) Waste water

(C) Deforestation (D) Solid waste

Which one of the following is not a reason
for reduction of pollution in developed
countries ?

(A) Shifting to small and medium
industries

(B) Shifting to service sector

(C) Strict environmental regulations and
taxation

(D) High preference for environmental
quality

Developing countries are suffering from

high level of pollution due to

(A) Lack of strict implementation of
environmental regulations

(B) Increased energy consumption by
industries

(C) More automobiles

(D) All the above

47.

48.

49.

BIOHTIE’ D6 Deer SPeaky SONOWD SEE50
(A) IBO8 ToboDed

(B) $yo° soe0ts A

(C) oo A5T©eS

(D) 08 3558 Sogren

©DHB oS DT SPebgl) HROBD
53500 528 ($08 T3S D19

(A) D5y 08ak 25635 BE:TF HOEZ00DH
PV SIch)

(B) oo SomedS 537806

(C) 585D Boegddey Jao@ered S50k
QAN

(D) Somgicses TeagBsd QY g
DB VOB BT0 &P Tow TOAF)
EOROIO0CEEE STEI00

(A) $T°5883 DODOEE ITTOR PLNBVN
9300 DADSEEE

(B) 205005 50,0 300 DA
(C) DreTE T5Tmre0 WS

(D) 2 287,85

50. ef5)g 3o Bres P BHsTI B3
50. People in developed economies prefer TS JID
(A) More Present Consumption (A) D)5 D55 DIAFTIS
(B) More Present Income (B) 53,5 (5:08 eseraiedd
(C) Better Environmental Quality (C) @S STgs0emsoas Teag
(D) Less Taxation (D) &%) 30
e 23 A-05-02




Space for Rough Work



